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Consider a sample of oxygen behaving like an ideal gas. At 300 K, the ratio of root mean
square (rms) velocity to the average velocity of gas molecule would be :

(Molecular weight of oxygen is 32 g/mol; R=8.3 J K~ 1 mol - 1)

Options :
I
3
86435118091.
8
86435118092. 3
£
3
86435118093.
3
86435118094. 3

Question Number : 1 Question Id : 8643516031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SEIF CAOT0Z JSFWT SIMEITE [RTON, Toneda, 300 K 3Q, ©A0T wrond
DROJTNF [ert DI, HOeTO [ennY DTN (SHBTIT @l Bedxy 32 g/mol;
R=83] K- 1mol~Y) )

Options :
Eaud
3
86435118091.
[
86435118092. 3

%

86435118093.
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=
86435118094. V3

Question Number : 2 Question Id : 8643516032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object of mass m, collides with another object of mass m,, which is at rest. After the
collision the objects move with equal speeds in opposite direction. The ratio of the masses
m, : m, 15 :

Options :

=

86435118095, 1

1
86435118096.

2

=l

86435118097.

3:

=

86435118098.

Question Number : 2 Question Id : 8643516032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tod my & [AFROW VFOFCNYTHR FERCE Tvd m, I SWIIROLN B8, BeBaINIT.
ﬁﬁﬁﬂ =0o3T ﬁm:‘ﬁ@u Melnly ﬁﬁﬁdg “"“3.'.5 EJE.H@@ E:'J":Jm_‘w. TodnY @
m, : m, &) :

Options :

86435118095, 1+ 1

1
86435118096.

86435118097, 2 1

86435118098, > ° 1

Question Number : 3 Question Id : 8643516033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

A particle of mass m moves in a circular orbit under the central potential field, U(r) = -

where C is a positive constant.

The correct radius Velncit}-' graph of the particlc-'s moton is :

Options :
r A
O >
86435118099.
r A
O » T
86435118100.
r A
Q » 0
86435118101.
r A
O > D
86435118102.

Question Number : 3 Question Id : 8643516033 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ted mT Feosipom Feor wgwm g6, U= — o @geod sFohg #OmEd.
39 Caowm T Efpmoﬁmﬁﬁ.

3600 WOSH TOOIRT Sgs-Fen TessowIm TFOI ¢

Options :

I' A

O T
86435118099.

r A

O > T
86435118100.

I' &

O » 7
86435118101.

r A

o >

86435118102.
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Question Number : 4 Question Id : 8643516034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid cylinder of mass m is wrapped with an inextensible light string and, is placed on a
rough inclined plane as shown in the figure. The frictional force acting between the cylinder
and the inclined plane is :

60°

[The coefficient of static friction, L is 0.4]
Options :
.my_

86435118103. °

5 mg
86435118104.

= mg

=
86435118105. =
8643511&8106.

Question Number : 4 Question Id : 8643516034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tod m T PIROLRROTT W2 QOIRNT DSV WET T3 UT®, VIR 3redathmod
208D [YWD ADIOFROTT 0eDDAT. YPED TNBO DR, FoPT IBE IIFWH
FaFHo WOFP) :

60"

[Ro% FIFmy ATOT, py, 0.4 Shitn]
Options :
'mg

86435118103. °

5 mg,
86435118104.

me,

3 | "\-\.."

86435118105.

86435118106. i

Question Number : 5 Question Id : 8643516035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the angular velocity of earth’s spin is increased such that the bodies at the equator start
floating, the duration of the day would be approximately :

[Take g =10 ms ~2, the radius of earth, R =6400x 10 m, Take =23.14]
Options :
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does not change
86435118107.

1200 minutes
86435118108.

86435118109, 00 minutes

B84 minutes
86435118110.

Question Number : 5 Question Id : 8643516035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R0 PFROoD &RACOD ﬁ'fﬁﬁ'mﬁ a‘;’:z@fb@daoa‘ z:u:mq% JeaSohQToa TANEL Jeown
TCoRMINCIRTT. KOW TN OIT LB[HOIN :
[g=10ms"2 RBRM0D &2 =6400 x 103 m B w=3.14 20tk Sriching]

Options :

86435118107, »0TRHE R

86435118108, 1200 &0x

T AR R
864351181009. 60 D&

- -‘:'-!
86435118110. B

Question Number : 6 Question Id : 8643516036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a uniform wire of mass M and Iength L. It is bent into a semicircle. [ts moment of

inertia about a line perpendicular to the plane of the wire passing through the centre is :

Options :
M2
2
86435118111.
1 MIL2
2 &

86435118112.
8/91
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1
86435118113

wra

86435118114.

Question Number : 6 Question Id : 8643516036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g L a3 0od M adds QEtes E;oér::if-:odm& Zoneda. @d&i OFF FZwoN NAT.
Zodoh ATMITOF wowmen FeoTRY TThIerdE TedoD Hed VU0 wBT DT ¢

Options :

M2

_rP_
86435118111,

1 M-

5 2
86435118112. = 7

1 MIL2

B —
86435118113.

2 M2

5 o2

86435118114.

Question Number : 7 Question Id : 8643516037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The speed of electrons in a scanning electron microscope is 1 x 109 ms~ 1. If the protons
having the same speed are used instead of electrons, then the resolving power of scanning

proton microscope will be changed by a factor of :
Options :

86435118115, 1837
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=

1
86435118116.

1

A/ 1837

86435118117.

V1837

86435118118.

Question Number : 7 Question Id : 8643516037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A3, IOV ‘&Ua“:__ia*‘ ART TIFTTY t-ﬁ%ﬁ*‘ﬁ@é Senzy) 1x107ms— 1 3. *&-ﬁ%ﬁ*‘ﬁﬂé wodn
©oe VMDY BOWSWT BRRT YR, WHATIIN Ay, Q07T WRERT AR BIFTT JFFoe
mmrgfﬁrg_mz WRTORW/ORN ©0TY -

Options :

86435118115, 1837

1
1837

86435118116.

1

/1837

86435118117.

V1837

86435118118.

Question Number : 8 Question Id : 8643516038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The velocity - displacement graph of a particle is shown in the figure.

(&)Y

»X

{} 'J'-'U-

The acceleration - displacement graph of the same particle is represented by :

Options :
G Y
O X
86435118119.
a A
0 X
86435118120.
ah
Q > X
86435118121.
a 4
() X
86435118122.

Question Number : 8 Question Id : 8643516038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

BeRROTT0 Jen-TITYE TFoL TemouIRa, BITY SRe0AT.

Uk
Uy
©oe 300 IeRRCTT -MITYUT SFOD Tesswwsdna)y, 38 Oed TSI :
Options :
G
) x
86435118119.
A
O X
86435118120.
.k
O > X
86435118121.
& A
O X
86435118122.

Question Number : 9 Question Id : 8643516039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

For an adiabatic expansion of an ideal gas, the fractional change in its pressure is equal to

(where v is the ratio of specific heats) :

Options :
dV
3 | v
86435118123.
V
dV
86435118124.
1 dV
v W
86435118125.
dv

86435118126,

Question Number : 9 Question Id : 8643516039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

STZF YAVHPOTT WIRTHeoD LMD, YTT LIBT G088 WHTVTHEOIN QT A

(BQ v Q0T DOFRCF FoUnNY AX)

Options :
av
Y v
86435118123.
V
e
dV
86435118124.
1 dV

86435118125.
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86435118126.

Question Number : 10 Question Id : 8643516040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular momentum of a planet of mass M moving around the sun in an elliptical orbit is

e

L . The magnitude of the areal velocity of the planet is :

Options :
L
M
86435118127.
L
M
86435118128.
oL
M
86435118129.
4L
86435118130, M

Question Number : 10 Question Id : 8643516040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RROLFS W LoBTZ FFoNY VOIS Tod M evInBHons dnedeod ey L
SNT. QLTNT QAT DNT TOBRE)

Options :

86435118127.

2M
86435118128.
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-2
—

86435118129.

4L
86435118130, M

Question Number : 11 Question Id : 8643516041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ideal gas in a cylinder is separated by a piston in such a way that the entropy of one part
is Sy and that of the other partis 5,. Given that5, >5,. If the piston is removed then the total
entropy of the system will be :

Options :
5, x5,
86435118131. -
86435118132. 5152
S,+5S,
86435118133, <
51

52
86435118134,

Question Number : 11 Question Id : 8643516041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2000 AOBTIYWLR STIF LAOTW, LFTFAOT 0IRT 0ed WBeTFBILONT 20TT WO

mﬁﬁ QO&E&W 51 ﬁ:'% m@a?:':‘ﬁﬂ uﬁoﬁ,ﬁ_@;&c;-ﬁ 5_-;_"“&&50@_ 51 }52 oy
LBTIW, ITen JIJFOD 2D, DOLERLOIL

Options :
51 X5,
86435118131. <
86435118132. 515,
S,+S,

86435118133.
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.51

S
86435118134, ~2

Question Number : 12 Question Id : 8643516042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

am
The function of time representing a simple harmonic motion with a period of E ig
Options :

sin(wt) + cos(wt)
86435118135.

«
sin“(wt)
86435118136.

- 3
F’rcos('— 2wt |
86435118137. . 4

cos(wt) + cos(2wt) + cos(3wt)
86435118138.

Question Number : 12 Question Id : 8643516042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e T
HWEF T

e QT AT TOMS WBOTORT, TSRS FNOLT L0IJ )

Options :
sin(wt) + cos(wt)

86435118135.

s 17
sin“(wt)
86435118136.

3{:05[:

1} ‘\I
Emt |
86435118137. \4 J

cos(wt) + cos(2mt) + cos(3wt)
86435118138.
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Question Number : 13 Question Id : 8643516043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a series LCR circuit, the inductive reactance (X, ) is 10 {2 and the capacitive reactance (X)
is 4 {}. The resistance (R) in the circuit is 6 ().

The power factor of the circuit is :

Options :

Sl

86435118139.

|G

86435118140.

N||--i.

86435118141.

86435118142.

Question Number : 13 Question Id : 8643516043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

%0e8 LCR :HoBo3R0500, Jeosdod 373 (X)) 10 2 ehad $ooidod TIFae (Xo) 40
&z, VOBOT TeeRD 6 NSAT.

TOBOT :.:m,ua*‘ mm:mfoﬁ@ :

Options :

Sl=

86435118139. "~

I

-

B
86435118140, 2

er—u'

86435118141.
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1

22

86435118142.

Question Number : 14 Question Id : 8643516044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct ?
(A) Electric monopoles do not exist whereas magnetic monopoles exist.

(B) Magnetic field lines due to a solenoid at its ends and outside cannot be completely

straight and confined.

(C) Magnetic field lines are completely confined within a toroid.

(D) Magnetic field lines inside a bar magnet are not parallel.

(E) x= -1 is the condition for a perfect diamagnetic material, where y is its magnetic
susceptibility.

Choose the correct answer from the options given below :

Options :

86435118143. Ll

(B) and (C) only
86435118144. i

86435118145, () and (B) only

26435118146, (&) and (E) only

Question Number : 14 Question Id : 8643516044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FONT JePINYY cIRYT0 TOCSRAT 9

(A) QT HIDIND BPYOY STT F0I0H DIWIAW WIS,

(B) Iy, 0mlomd 5203 $e3m Selnitd $TT ONYY DI BRTPARY RoTpear
T B TR E0DYTST).

(C) ErTCITEROTT LYTRNTEYDNE 5908 3 Tednwh TOWSDYWLETH.

(D) To® ©oDH,OIFEOTT LEPINBYWS OSTFSH Telned FBPOSTTNW[DL.

(E) =werer BolRBodeod FJWNLH x= -1 2000 LOW AWFOT@[NT. [Py ok
Fodeod FeobrSolmhT.

FVNTINYY TORT LTI, SORFTR@ :

Options :

=3 (D) =™»3
86435118143. ot o

(B) 2 (C) 30
86435118144 =

86435118145. (A) méi (B) =22

C) =& (E)=»2
86435118146. © = E) e

Question Number : 15 Question Id : 8643516045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct relation between « (ratio of collector current to emitter current) and § (ratio of

collector current to base current) of a transistor is :

Options :
' 0
= 1+«
86435118147.
P
o=
0
86435118148.
: 1
B =

i

86435118149.

19/91



3/18/2021

86435118150.

Question Number : 15 Question Id : 8643516045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ERRRTRROTT o (AONTT N DARFT TFBNY ODTVT) WD B (VONTT W, SPTT
TERENY YWTS) NY IBAT F00IRT FoWoyP :

Options :
o
3 =
[ 1+a
86435118147.
B
o —
(b
86435118148.
1
b 0
86435118149.
B
o= ——-
1+
86435118150.

Question Number : 16 Question Id : 8643516046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton and an a-particle, having kinetic energies KP and K, respectively, enter into a
magnelic field at right angles.

The ratio of the radii of trajectory of proton to that of a-particle is 2 : 1. The ratio of K, : K,
18 !
Options :

86435118151, 1 4

86435118152, 11

86435118153, O 1
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86435118154, 1+ 8

Question Number : 16 Question Id : 8643516046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fmmeh K, @ K, #0578 Teolld wom Hedng’ mad wotd o-fensd oowmeh
TOTECTHR, THeIWITH. DT DI o-Bed TPNY IxNY oTIY 2:1ena.
ToMDT LTS K,: K, & :
Options :
86435118151, 1 14

86435118152, 11
86435118153, O 1
1:8

86435118154.

Question Number : 17 Question Id : 8643516047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Three rays of light, namely red (R), green (G) and blue (B) are incident on the face PQ of a
right angled prism POR as shown in the figure.

—

Q R

The refractive indices of the material of the prism for red, green and blue wavelength are

1.27, 142 and 1.49 respectively. The colour of the ray(s) emerging out of the face PR is :
Options :

6435118155, blue and green
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86435118156, Due

green
86435118157.

86435118158, Ted

Question Number : 17 Question Id : 8643516047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
23309 32e0ATOTOZT WO voudees ©3N POQRT PQaNT bed oz (R) B (G)
DB e (B) 20w R YT STURNRD STSWors.

P

———

C——

Q_I R

oI, TACY FWB e ITOMROITNON ©IN JIWIT [FPIT0INTY  FowoN
1.27, 142303 1.49 eﬁc&:@a’. TG0 PR 0000 AnFa §0n((NY) wew) :

Options :

© - e
86435118155. Ded THIH) DA

86435118156, €O

86435118157, ZAD

86435118158.

Question Number : 18 Question Id : 8643516048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The time taken for the magnetic energy to reach 25% of its maximum value, when a solenoid
of resistance R, inductance L is connected to a battery, is :

Options :

86435118159.

86435118160.

L In10
R
86435118161.

infinite
86435118162.

Question Number : 18 Question Id : 8643516048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sl RFTEE Ladds 3ndlnciyponal, drest Brd owes AN, 5208 33030 ©TT
nog m—"a@g Jesme 25 0F[Y, TLOTD 3NNBROE ToOH) :

Options :

86435118159.

86435118160.

L In10
R
86435118161.

86435118162, 2002

Question Number : 19 Question Id : 8643516049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A plane electromagnetic wave propagating along y-direction can have the following pair of

electric field {E] and magnetic field {_E:] components.
Options :

]31Jr . B,f o E.. B,
86435118163, ~ =

E,,B,orE

iy

BT
86435118164. '

E..B.orE ,B
86435118165. *° = A

E ,B.orE_ ,B
86435118166. ¥ L

Question Number : 19 Question Id : 8643516049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y-033Q BOWEWLB AWIO VTNTY0S0D ITONTROW FFNT BreRong NI ECE, iE}

L=

2 ToTFeP () Prssniva, BrodTw BN,

Options :

E, 6B «@ E,, B,
86435118163, 7 Oy OF 2+ B,

B, ogm E,, B,

E r r
86435118164. ¥

E ,B »g=e E_,B
86435118165. * = 7 e

E,B ugzeE_ B
86435118166. ¥ * v B

Question Number : 20 Question Id : 8643516050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The decay of a proton to neutron is :
Options :

not possible as proton mass is less than the neutron mass
86435118167.
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36435118168 possible only inside the nucleus

¢ ay. 1 it 1s 1 T OTAT] ¥ T
R6435118169. always possible as it is associated only with % decay

86435118170. not pnssihle but neutron to prnton conversion 1s pGSSIbIe

Question Number : 20 Question Id : 8643516050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LOTR WRLEIVT'OT SRERT FOWALTOID :

Options :
DRCERT ToSCIN JIRLPT To R [YUORTO0T M.

86435118167, TRFEDT TodOlN o ) 0T TedN0o2 3R JTORT00T X (WIS
ARIODTH LYTINTY N, RG.

86435118168. 0e i = e
B aclogcieolin @S, TROOTAIRNTIR)DO0T clRNLD B.ak.

864351181609. z i g
QN MHIAY ST IRINTUOE WRMERT T TORSFE G,

86435118170. b =g i 2
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The projectile motion of a particle of mass 5 g is shown in the figure.

Vol i Y
Fase 15
A B

The initial velocit}f of the pa.r’ricle is f‘w@ ms ! and the air resistance is assumed to be negligible.

The magnitude of the change in momentum between the points A and Bis x <10~ ?kgms L.
The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643516051 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

BIWY Tod 5 g AT FLRHROTT TFeF, BOTODI, 3ReDAT.

-t
(28]
—hy D

TEeRm ©0oRs Ser 5v2 msT SAB I mYcd Sregn®, DOFIAE Q0T PIXT.
T3 BRomond SRAF SHNT TOSTRetoprida ©3008) xx 107 2kgms TSR,

Elela :Lc;mmﬁ'u; xE SRR

5 I
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100
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An infinite number of point charges, each carrying 1 pC charge, are placed along the y-axis
aty=Im,2m, 4m, 8§ m .............. g
The total force on a 1 C point charge, placed at the origin, is x x10° N.

The value of x, to the nearest integer, is

[Take = 9x10°Nm?/C?

4reg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516052 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

yo30 WHER, y=1m,2m 4m 8 m ... neg Técdeomd &3 1 pC Se0bHT
©TOZ OB WO CHWeINYLR, VBN,

DRoTH0AT 1 Cam, Womd B:=5e3T HedT 2, WO xx10° NSND. Tonetd TETT

Jemer ot ¥ IR s = 9x10°Nm?2/C2 a0 SRBRNRR |

d1reg
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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100

Question Number : 23 Question Id : 8643516053 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two wires of same length and thickness having specific resistances 6 {} cm and 3 {} cm
respectively are connected in parallel. The effective resistivity is p £} cm. The value of p, to

the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643516053 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Feamen 08T SRl 6 lemEDB 3 N em BROVTIT LTHE wOTE YUT B TIT S0SNT

3
2 -

AZmozTmoh FoTdr AeRns.
WOFDTTO TREPIIW p Nem BT, BETT EL?EFGE'E; pE [POZ

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643516054 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 4 kg, moving with a velocity of 10 ms I collides with a spring of length 8 m
and force constant 100 Nm 1. The length of the compressed spring is x m. The value of x,

to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643516054 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 ms~ ! Eenng @BODIHT Tod 4 kg vh@d odwom, 8 med I WO A 000%
100 Nm~ ' goha %jon*‘ Bed B8 BREAINIT. AodeBEnpomEon ion*‘a SUTEY) x m SHT.
BITE Rererodnd 18 SPOF

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643516055 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The t}fpical output characteristics curve for a transistor workf_ng in the common-emitter

conf iguration is shown in the igure.

Io(mA)

The estimated current gain from the figure is

8

6

___________ = Ig=40pA
r e om0 A
“““_.-;-;:::- T T Ig=20pA
.-_i;}éflll---- T Ig=10pA

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516055 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Vee(V)
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PR~ ERFT l:utT‘ruﬁ'fj FToOoDF N F &b
g SELEE
Io(mA)
18 M = Ig=40pA
e e L;=30 uA
- e T T T Ig=20pA
J e LA
/
r/ e
; N

B30T LOmRBAT TFeETNTTOIN

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Vep(V)

El?p‘ 2,000 =0 anFs mgﬁ'ﬁﬁ'mﬁ

Question Number : 26 Question Id : 8643516056 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a 72 cm long wire AB as shown in the figure. The galvanometer jockey is placed at

P on AB at a distance x cm from A. The galvanometer shows zero deflection.

Al A A (':\\ \."'.IJ,-'\. A
i
'\G__,.-
|
., !
A
| P

The value of x, to the nearest integer, is

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643516056 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

W3Dg 3ReDATINOZ 2cmeEE 308 AB oba, Toneda. A 200ROT x cm TROTY
MOAABRIIC PI0DTY, VERNT. MOSASHTIY LTI, 3pe0ITT.

P
wd

il -2 )
W W \ ¥
.-"J_'\I
I\(_:_l/'
|
« ] ;|
Ae® -y $B

: P

TECT Temor o8t 13 SPOY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516057 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A galaxy is moving away from the earth at a speed of 286 kms ~!. The shift in the wavelength

10

of a redline at 630 nm is ¥ x 10 .

The value of x, to the nearest integer, is

[Take the value of speed of light ¢, as 3 x10% ms ™ ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643516057 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2,000 TROICID 286 kms ™! mTTY HRONOT WD Xoomdh. 630 nm I Fomd
Jesdodh STomo30n TedE) x x10710m 1.

®ECT Temorotng x & wSotw

(23938 =R ¢ BFodad, 3x 108 ms T 2omd IricHiRg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643516058 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a water tank as shown in the figure. It's cross-sectional area is 0.4 m?. The tank
has an opening B near the bottom whose cross-section area is 1 ecm?. A load of 24 kg is
applied on the water at the top when the height of the water level is 40 cm above the bottom,
the velocity of water coming out the opening B is v ms™ 1.

The value of v, to the nearest integer, is

[Take value of g to be 10 ms ™~ 7]

24 kg
|77 24 A
e

B "

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643516058 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

BIDY 3Re0ATTOT Lot DO LN, TOMdr. YT ©7g Jed DAcrery 0.4m? B3
3RYoM ITYPRNT Faned Toz Bodm, Beold, ©TT @8 Acw QAceFm) 1cm?ad.
DEOT WD IYNOT 40 cm e, VO Hed HedROT 24 kg FOTIW, BTOWATRN TOG
B 03 BeTuLtha 0T Henzm) vms ™ SHE.

TETH TWRHrosnY v WS

[g8 BSoda, 10 ms 220w SrRchdey]

24 kg
e — A

i

".h." Tt
.

B A ._".

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516059 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A TV transmission tower antenna is at a height of 20 m. SUpp ose that the receiving antenna

is at.

(i)  ground level

(i)  a height of 5 m.

The increase in antenna range in case (ii) relative to case (i) is n%.
The value of n, to the nearest integer, is

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643516059 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
TV ZATe feegds GSoiEE wou0 2305 20 m 3. AFFOMT S oI

() pemy D

(i) 5S5moITTIT QO FoWA.

TWORS(i) § moTegwmoNn WORS (i) 0P Besps €063 3eedodn n% A
TE0T TRToFoTRY nd FS03W

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516060 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius of a sphere is measured to be (7.50 = 0.85) cm. Suppose the percentage error in its

volume is x.

The value of x, to the nearest x, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643516060 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AReYFROTT S Tay (7.50 =0.85) cm 020TRN ©¥E IRECNG. ©TT MIT JesTHOR

T e
Ged x 0N zrn.: rnfofl a:& o o mmmj xd 203

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351405
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351405
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643516061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A hard substance melts at high temperature and is an insulator in both solid and in molten
state. This solid is most likely to be a/an:

Options :
86435118181, lonic solid

86435118182. Cowvalent solid

86435118183. Metallic solid

86435118184, Molecular solid

Question Number : 31 Question Id : 8643516061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Pl Pebaiing Hio e S i el dol sie B L e ARt
wWxSeT B ?H@ 2,000

Options :

86435118181, DOWRAT TFT

A% Aocinexd (AEFedd) T
86435118182, ° AR HEs

s
86435118183, SPEROR T

3%
86435118184. =

Question Number : 32 Question Id : 8643516062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : Bohr's theory accounts for the stability and line spectrum of Li ¥ jon.

Statement Il :  Bohr's theory was unable to explain the splitting of spectral lines in the
presence of a magnetic field.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
86435118185. Both statement I and statement 11 are true.

86435118186, Poth statement I and statement Il are false.

86435118187, Statement I is true but statement 11 is false.

86435118188, Statement 1 is false but statement 11 is true.

Question Number : 32 Question Id : 8643516062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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39 OB TewINY, VRS :

I:  Beeo's Ampodsy Lit ©oindd 3038 @) Seanndeckdnm), TONELSRHD.

II: Heeo's AW03my) modeod 3@ MAFTY Cnekd Telnd eddd
(SeLmMF)ODI, LFWOID IFTNIY.

T BePIYR), MDA, ARTJT IO ¢OITIW, I9NT SoRNYY SOA.

Options :

86435118185, LT 1 H Fewd 11 dxans.

Gt | a.s, Zeed 11 SzoneE.
86435118186. =

Eeed 1 O =nd Seed 11 Smﬁm
86435118187.

Question Number : 33 Question Id : 8643516063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The charges on the colloidal CdS sol and TiO, sol are, respectively :

Options :
86435118189, Positive and positive

86435118190, Negative and positive

86435118191, Positive and negative

86435118192, Negative and negative

Question Number : 33 Question Id : 8643516063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CdS=@ TiO, mernddd dony Hedy walednsd sabdaen :
Options :

Towrd w3 Demed
86435118180, PIOmEB OB, Fozied
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2003 N Foowed
86435118190. e

86435118191. =

86435118192.

Question Number : 34 Question Id : 8643516064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first ionization energy of magnesium is smaller as compared to that of elements X and Y,
but higher than that of Z. The elements X, Y and Z, respectively, are :
Options :
26435118193, 2r8on, chlorine and sodium

86435118194 chlorine, lithium and sodium
86435118195, argon, lithium and sodium

26435118196, Neon, sodium and chlorine

Question Number : 34 Question Id : 8643516064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SN ACHEFT TP LOIRAETTED JFOIN X DIV Y Do2anen TReOATN 38 vl «sud Z
No3 TN, TOMOWT FRNTT X, Y o) Zrish Fhamen :

Options :

SIMF T, 3Re0T° D Arctodss*
86435118193. S =t

86435118194, PREOT: OeHODO I, ZREWORO

86435118195, SNoF &s DERON0 ) ARRODHF

NOITT, AReBODIT HI BROT
86435118196. = S
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Question Number : 35 Question Id : 8643516065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Mercury (i) Vapour phase refining
(b) Copper (if)  Distillation Refining
(c) Silicon (ii) Electrolytic Refining
(d) Nickel (iv) Zone Refining

Choose the most appropriate answer from the option given below :
Options :
6435118197, (@)-(i), (b)-(iii), (c)-(iv), (d)-(i)

86435118198, @)1, (b)-(iv), (c)-(u), (d)-(iii)
86435118199, (@)-(i), (b)-(iii), (c)~(i), (d)-(iv)

26435118200, \@-(d), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 35 Question Id : 8643516065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1, T -1 T Eed Beoda.

Zeg - 1 = - 1
(a) RTOX (i) =% 33 "oFD :
(b) oy, (i) geiegTee
(c) adees (i) DWWHFeseo FORTER
(d) &3 (iv) Swod ZoHT=

39NT soPNvY w3cT Leg Y0ITI, SOA.
Options :
c6435118197. @-(i), (D)-(ii), (©)(iv), (d)-(i)

86435118198, @)-(1), (b)-(iv), (c)-(u), (d)-(iii)

86435118199, (@)-(i), (b)-(iii), (c)~(i), (d)-(iv)
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86435118200, - (i), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 36 Question Id : 8643516066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In basic medium, H?_D?_ exhibits which of the following reactions ?
(A) Mn?* — Mn??

(B) L =1

(C) PbS — PbSO,

Choose the most appropriate answer from the options given below :

Options :

86435118201, M) Oy

86435118202, (B) only

86435118203, (&), (B) only

86435118204, (o), iy oty

Question Number : 36 Question Id : 8643516066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IPnecd SRFDEY, H0, NI 305nem, TEdrmmm.
(A) Mn?* — Mnt?
(B) L —I
(C) PbS — Pb50O,
39NT soRnvy w3es Iag LLITTT, SOA.
Options :

86435118201.

86435118202.

86435118203, () (B) 572,
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(A), (C) S»3,
86435118204 >

Question Number : 37 Question Id : 8643516067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Be (i) treatment of cancer
(b) Mg (ii) extraction of metals
(c) Ca (ii) incendiary bombs and signals
(d) Ra (iv) windows of X-ray tubes

(v) bearings for motor engines.
Choose the most appropriate answer from the option given below :

Options :
86435118205, @)-(1v), (b)-(iii), (c)-(i1), (d)-(i)

26435118206, (@) (), (b)-(v), (c)-(i1), (d)-(v)

s6435118207. @-V), (b)), (c)-(1), (d)-(i)

26435118208, \A)-(id), (D)-(iv), (c)-(v), (d)-(ii)

Question Number : 37 Question Id : 8643516067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#

T - 10 Bed Iy -1, BeoDA :

T - 1 = - 1
(a) Be (i) w0 Widmn
(b) Mg (ii) CSremnd m:acéjd?;mﬁ
[} Ca (i) 230BOWNW WOCLRTITH T, ABID
(d) Ra (iv) X-Sec dnvdod seasmisd

(v) SHDRetRT* 087Ny dedornned
39NT SoRNYY TRTTHT ITIW, SOA.

=b b o,
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Options :
86435118205, @), (b)-(iii), (c)-(i1), (d)-(i)

26435118206, (@) (i), (b)-(iv), (c)-(i1), (d)-(v)

86435118207, @rv), (B)-(iii), (c)-(), (d)-(ii)

26435118208, \A-(il), (D)-(iv), (c)-(v), (d)-(ii)

Question Number : 38 Question Id : 8643516068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxidation states of nitrogen in NO, NDE, NED and NDE are in the order of :
Options :

NO > NO, > N,O > NO;
86435118209. = :

N,O > NO, > NO > NO;
86435118210. = :

NO,> NO5 > NO > N,O
s6a3s118211. N O2” NO3 2

NO; > NO, > NO > N,0
86435118212. :

Question Number : 38 Question Id : 8643516068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NO, NO,, N,O == NOj; A¥Q SHPRTE e0ITFeyd T :
Options :

L

N,O > NO, > NO > NOj
86435118210, - ~

g6435118211. NO2> NO3 > NO >N,O

. I, > NO. > NO > N.O
86435118212. NOg S >
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Question Number : 39 Question Id : 8643516069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The oxide that shows magnetic property is :

Options :
5i0
86435118213. 2

Mn,O
86435118214, 34

MgO
86435118215.

Na,O
86435118216. =

Question Number : 39 Question Id : 8643516069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
To0Se0R ARRWRA, SRWVD CT,T)
Options :

7

5i0
86435118213. x

MIHD4
86435118214. :

MgO
86435118215,

Na,O
86435118216. =

Question Number : 40 Question Id : 8643516070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary valency and the number of hydrogen bonded water molecule(s) in
Cu504 -SHED, respectively, are :

Options :
86435118217, 4 and 1
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86435118218, 0 and 4

86435118219, > and 1

86435118220, 0 and 3

Question Number : 40 Question Id : 8643516070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CuSO,-5H,0 8Qtha F{Jm:ma*‘ LWOTNPTLS Ledm wea(ny) xos% S Eg,&eﬁ m@?‘;o.aﬁ
FeRaon :

Options :

86435118217. : e

603 4
86435118218. =

5zan 1
86435118219. —

6035
86435118220. =

Question Number : 41 Question Id : 8643516071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1:  Non-biodegradable wastes are generated by the thermal power plants.
Statement Il : Bio-degradable detergents leads to eutrophication.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

8643511822 DBoth statement I and statement II are true.

6435118222, Both statement I and statement 1l are false.

86435118223, Statement 1 is true but statement 11 is [alse.
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6435118224 Statement I is false but statement 11 is true.

Question Number : 41 Question Id : 8643516071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3R QOB Tewdnvad, AT :
Teed 11 FpBREST, 50071900 WENBCTTMS IEH) DT AFLIHRI®.
Bewd 11 DT QPLINHRNT SRBREINW 83 TPLEFTF TOOTMHTR.

=ed ﬁe@-ﬁﬁ@&i Mo, 3890 &oﬁ:;ﬁvég RIRT wg:&ﬁ&i =[]

Options :
Zeod 1 H3h 2eed 11 Azaoha.
86435118221. pr.
Zeed I sz Zeed 11 238 3Tohe.
86435118222. = =
Zeed 1 2z =0d Zeed 11 2500,
86435118223. =
Sewd 1 3o uud Seed 11 Qxesohss.
86435118224, w

Question Number : 42 Question Id : 8643516072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  C,H;OH and AgCN both can generate nucleophile.
Statement Il : KCN and AgCN both will generate nitrile nucleophile with all reaction

conditions.

Choose the most appropriate option :
Options :

86435118225, Both statement I and statement 11 are true.

86435118226. Both statement I and statement 11 are false.

86435118227, Statement I is true but statement 11 is false.

26435118278 Statement 1 is false but statement 11 is true.
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Question Number : 42 Question Id : 8643516072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

39N QU@ Bewdnvmd, Redd :

Bewd 11 GHOHD AgCN i 3R geciretoinym, REnaEnsvang.

Fewd II: KCN =B AgCNAieh oop 308® 33199 38, 0° IRgoineinodond), H0@R
AT AWNE SRER)R).

LRERT w:ﬁcﬁ'ﬁ&i sgho eoﬂ;;ri@@__ =04,

Options :

Zeed 1 =03 2eed 11 axaohe.
86435118225, .

Zeed 1 =Hzh Zeed 11 3Toha.
86435118226, il w

Zeed 1 2z =00 Ieed 11 0.
86435118227. -

Zeed 1 3o =ud 2eed 1 Dumons.
86435118228. Bl

Question Number : 43 Question Id : 8643516073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the following molecule,

d
H,C

kot

Hybridisation of Carbon a, b and c respectively are :
Options :
3 o 2
86435118220, ¥ 7 7

L P
86435118230, P+ 5P~ 5P

-
86435118231, 1 7 P 5P
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3 >
sp, sp, §
86435118232. ity

Question Number : 43 Question Id : 8643516073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BUNT w0dTQ,

PWFTD ROTTEe a, b DB c NYY Faamh
Options :

B il 2
86435118229, ¥ 7 5P ¢

S,

86435118230, °F 7 5P7 5P
P>, p, Sp

86435118231,

sp3, sp, sp?
86435118232. e i

Question Number : 44 Question Id : 8643516074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Main Products formed during a reaction of l-mc-thoxy 11aphthalenc- wilth h}-‘drf}iodic acid
are *

Options :

and CH,l

86435118233.
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and CH,OH

0

86435118234.

OH

and CH,OH

o

86435118235.

OH

and C I-I3I

o

86435118236.

Question Number : 44 Question Id : 8643516074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1-So s mo,Fedea drobn ﬁﬂﬁug BodRBT owmy WEFATIN S0IRTTT  TEIND

el

SOZDTIENLDL
Options :
[
86435118233.
|
86435118234.
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OH
|iii|||"||||lii| & CH,O0H
36435118235,
OH
S CH,
86435118236,

Question Number : 45 Question Id : 8643516075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reaction of hypobromite with amide, the carbonyl carbon is lost as :
Options :
86435118237. CO

86435118238. €O,

L
CO;
86435118239. 3

HCO-
86435118240. 3

Question Number : 45 Question Id : 8643516075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DFRULTET BT VINT VIFATIN, PWFNY PWFT LN WWNEIRMRT
Options :

86435118237. CO

86435118238. ol

CO;
86435118239
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HCO,
86435118240. 3

Question Number : 46 Question Id : 8643516076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O

dil NaOH H™*, Heat

o]

[ r.'xn > AV
» Y

Consider the above reaction, the product ‘X" and "Y' respectively are :

Options :

d”o ﬂ/@
86435118241.
86435118242. é’/‘Q
86435118243. é/o &r///\:
86435118244. é@ dff;@

Question Number : 46 Question Id : 8643516076 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

hwFroNaOH . .o, HY. 3D _ .n
2 » K — L Y

0T Fohohg w3, X =B Y e TN ¢

Options :
O O
d/DHO ; d/@
86435118241.
OH 0O :
86435118242. O
O O
W lr M:
86435118243.
O O
86435118244.

Question Number : 47 Question Id : 8643516077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An organic compound “A” on treatment with benzene sulphonyl chloride gives
compound B. B is soluble in dil. NaOH solution. Compound A is :
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Options :
86435118245, 615~ CHy NH CH,

CH.-N—(CH
se43s118246. o5 v (CHsh

86435118247, "6 15 NHCH,CH,
CeHs —CH—NH,

86435118248. Sh

Question Number : 47 Question Id : 8643516077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,00 FWORT FOOWF “A” obE, HoRert FGRENC IRTET JedymER FooKwT
Buoowme. #wodE NaOH wmomemg BoX 3UNTT XOOINE A CD :
Options :
86435118245, Coris ~ CHp NH CH,

C H.—-N-(CH
86435118246, © ° (CHy),

C,H; ~ NHCH,CH,
86435118247, ~© g
CeHs —CH—NH,

86435118248. Sh

Question Number : 48 Question Id : 8643516078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
NO,
HNO;, H,50,
> + +
288 K
NO,
NO,
A B C

Consider the given reaction, percentage yield of :
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Options :

86435118249, 1> C>B

86435118250, € > A>B

- 3 b
86435118251. Sk

86435118252, €> B> A

Question Number : 48 Question Id : 8643516078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
NO,
HNO;, H,80,
> + +
288 K
NO,
C

NO,
A B :

BREITOE §ODORMW, Zoneda, 3caBwo® BELZ|OOI :

Options :

86435118249, 2> C>B

86435118250, © > A >B

- b
86435118251. o e

86435118252, ©> B> A

Question Number : 49 Question Id : 8643516079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11 :

List -1 List - 11
(Class of Chemicals) (Example)
(a) Antifertility drug (i)  Meprobamate
(b)  Antibiotic (i) Alitame
(c) Tranquilizer (iii) Norethindrone

(d) Artificial Sweetener (iv) Salvarsan

Choose the most appropriate match :
Options :

86435118253, (@), (B)~(i), (©)-(ii), (d)-()
seans11gas. @), (B)-(iid), (©)-(iv), (d)-(i)
seas118ass. @), (D)-(iv), ©-), (i)

86435118256, (@ () (B)-(v). (c}-(0). (d)-(1i)

Question Number : 49 Question Id : 8643516079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T -1, T - 1T ¥ JeoDA ¢

=g -1 =y - 11

(CZRORTW 2P) (VTHRTTHE)
(a) FoTTS Seeys () =DFpeddes
(b) TsEae (i) eOdemr
(c) 3I=ITTO (i) =Tt S0t
(d) ¥3% %m0 (iv) RFoRT
TRTRT YOITDW, FOAT &o@.r‘.@g
Options :

86435118253, (@)F(), (b)-(iil), (c)-(ii), (d)-(1)

86435118254, (@)(H), (b)-(iii), (c)-(iv), (d)-(i)
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86435118255, (@) (i), (b)-(iv), (c)-(1), (d)-(11)

86435118256, @) (8 (B)-(v), ()-(0), (d)-(iii)

Question Number : 50 Question Id : 8643516080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Deficiency of vitamin K causes :
Options :
86435118257, ncrease in blood clotting time

86435118258, Decrease in blood clotting time

86435118259, Cheilosis

86435118260 Increase in fragility of RBC's

Question Number : 50 Question Id : 8643516080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QEINT -K 3RTSCWNOT :

Options :

U8 B[INLDZT Too HOFoIMESTE
86435118257, = W =

08 DIINEDD Foe weioinnad
86435118258. = oo =

o e e o, e
86435118259, LOMNORT ST

TOTD UF BREINY WFOS TWIm)TD
86435118260, T T am T iR

Chemistry Section B

Section Id : 864351406
Section Number : 4
Section type : Online

Mandatory or Optional : Mandatory
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Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351406
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643516081 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10.0 mL of Na,CO; solution is titrated against 0.2 M HCI solution. The following titre values

were obtained in 5 readings :
48 mL, 49 mL, 5.0 mL, 5.0 mL and 5.0 mL.

Based on these readings, and convention of titrimetric estimation the concentration of NE[-)CD-_E

solution is mM.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643516081 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10.0 mL &7, Na,CO; Tozeeaa, 0.2 M HCl Goasend wr) ijkes0n SRBRAT. YA

ﬂ-\_r'

N BT VD) MY, TWECLNG :
48 mL, 4.9 mL, 5.0 mL, 5.0 mL mai 5.0 mL.

0T OeROTFMIYAER, I, TOTRONT Lomom®, TONESA, Na,CO, TpReed FoTZom
mM.

(RéneTT Temsorod).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 52 Question Id : 8643516082 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of species below that have two lone pairs of electrons in their central atom is

(Round off to the Nearest Integer).
SF,, BF, , CIF;, AsF, PCl;, BrF., XeF,, SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643516082 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23, eoleod TTBRENVITY ST LFON 2GTWFNY BRBODT, BRODL

3

ne

24,
3 -

HOS5,000 . (RENETT TRTHF0T).

SF,, BF; , CIF,, AsF,, PCl,, BrF,, XeF,, SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516083 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The gas phase reaction
2A(g) = Asg)
at 400 K has AG°= +25.2 k] mol ~ 1.

The equilibrium constant K- for this reaction is %1072 (Round off to the Nearest
Integer).

[Use: R=83] mol"! K1, In 10=223
Iogm 2=0.30, 1 atm=1 bar]
[antilog (—0.3)=10.501]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643516083 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

YOO TRIHOL Fohomn
2A(g) = Ax(g)
400 K39 AG°= +25.2 k] mol ~ ! Brobd.

& ohod TIdecwd dchIwozy Ko X 1072, (ReDNeTT TRTHoF OF).
[svzodeena : R=8.3 ] mol lK-1 In10=23

log,p 2=0.30, 1 atm=1 bar]
[antilog (—0.3)=0.501]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643516084 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A solute A dimerizes in water. The boiling point of a 2 molal solution of A is 100.52°C. The
percentage association of A is . (Round off to the Nearest Integer).

[Use : K, for water =0.52 K kg mol !
Boiling point of water=100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 54 Question Id : 8643516084 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QEOTY WO TWoE, A 0N QOITRENTRMIR)T. 2B pene ARRT HOONS VO
10052°C AT, AT Ie3TToTy T BORF ) . (BNCTT TRFEUFOT)
[evzodeens : 2608 K, =0.52 K kg mol !

2edE BOVoT) =100°C]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643516085 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The solubility of C dSD inwateris8.0x10 " 4mol L~ L. Its solubility in 0.01 M I—I25C!4 splubion
is %107 ®mol L~1. (Round off to the Nearest Integer).

(Assume that solubility is much less than 0.01 M)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516085 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2e0Y CASO, & DOeadodd 8.0x10 4 mol L~ 193, 0.01 MH,S0,m0s659) Bmt Qdeasdots
x10"¢mol L™, (Benemd Demorod)

(RDem3oy 0.01 MACT 283830 Q0TH JoWD)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 56 Question Id : 8643516086 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The molar conductivities at infinite dilution of barium chloride, sulphuric acid and
hydrochloric acid are 280, 860 and 426 S cm? mol ~! respectively. The molar conductivity at
infinite dilution of barium sulphate is S cm? mol ~!. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643516086 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

We00DWT BRTHE, AVRDT CE) WA, [BRBRHPOT SWY VT0Z DUWFY TRBERT
BT FBIIAD FEhweh 280, 860 7B 426 S cm? mol ! @Y. T dedohnd
IEHFS BT0T DUFY TINRT SRTT THIZ0W S em? mol ~ L
(TeNeTT DRFTFOT).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643516087 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction has a half life of T min. The time required for 99.9% completinn of the reacton is

min. (Round off to the Nearest Integer).
[Use : In 2=0.69; In 10=2.3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 57 Question Id : 8643516087 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2,000 F0DOL STOF oI 12eNTENT. FOLOIRS Je3B 99.9T=W

2

AEEF TADNED éﬁﬂiw%:j

A= NN, (FNETT JRTFOT).
[ervmodeend : In 2=0.69; In 10=2.3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516088 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A xenon compound ‘A" upon partial hydrolysis gives XeO,F,. The number of lone pair of
electrons present in compound A is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516088 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2,000 HITPT AMOOINET ‘A’ 03N ©03TF mOLPRTODY XeO,F, [emdmmh. Mooy A 39
BTOMWDIT DFON HSTT WeeBNY BO2B0N . (RENCTT JRFBOFOT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 59 Question Id : 8643516089 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

COOH COOH

FeB
+Br2i} + HBr

Br

Consider the above reaction where 6.1 g of Benzoic acid is used to get 7.8 g of m-bromo

benzoic acid. The percentage }-'ield of the product is

(Round off to the Nearest Integer).
|Given : Atomic masses : C : 120 u, H: 1.0 u, O : 16.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516089 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

COOH COOH
F(‘.BI"3
+Bry ———» + HBr
Br

e ohoba, Woneda, 6.1Mar omechd ¢y 2ddeenioom® 7.8 MErEm)
m-2320eR¢ WORORT SIMTW, TECHTRWNH. NITT JeDTFIL BHFJOIR

(ReReTT TRTFOT)

[d§ : WORWEN Todned : C:120u, H:1.0u, O: 16.0 u, Br: 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 60 Question Id : 8643516090 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In Tollen’s test for aldehyde, the overall number of electron(s) transferred to the Tollen’s

reagent formula [Ag(NH,),]* per aldehyde group to form silver mirror is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643516090 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

E-%%E‘ﬁ%’mﬁ oTs T3 @Qﬁjﬁ*‘a rgslors) mmiﬁg zjf% -ﬁaﬁ SOOERNED LROTI

©PTTIOOT (AR, [Ag(NH,),]*') TMFIBNANE 2OFT(NY) W0 F050D(ME)

B

. (RENEeTT TRBoF 0F).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351407
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351407
Question Shuffling Allowed : Yes
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Question Number : 61 Question Id : 8643516091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If 15sin%a +10costa=6, for some aeR, then the value of 27sec®a+ 8cosecta is equal to :
Options :

86435118271. 500

86435118272, 100

86435118273, 220

86435118274, 290

Question Number : 61 Question Id : 8643516091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aelk "GE;L‘JT‘: 15sina+ 10costa=6 ©TT 27sec®a +8cosecba & Pdoin :
Options :

86435118271. 500

86435118272, 400

86435118273, 220

86435118274, 220

Question Number : 62 Question Id : 8643516092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If P and Q are two statements, then which of the following compound statement is a
tautology ?

Options :

s6435118275, (P=QA~Q =P

86435118276, (P=Q) A ~Q)=Q

86435118277, (P=Q A ~Q)= ~P
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86435118278, (P=Q A ~Q)= (P~ Q)

Question Number : 62 Question Id : 8643516092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P @3 Q ndow 0@ mé:.iém’fﬁ, TIMRWO B WNIPYNYY OIS FOCINT m;sjuo:m
I (LtpwE) CBRNT ?

Options :

se43s118275. (F=QA~Q) =P

86435118276, (P=Q) A~ Q) =Q

86435118277, (P=Q) A ~Q) = ~P

86435118278, (P=Q A ~Q)= (P~ Q)

Question Number : 63 Question Id : 8643516093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pole stands vertically inside a triangular park ABC. Let the angle of elevation of the top of

the pole from each corner of the park be % If the radius of the circumcircle of AABC is 2,

then the height of the pole is equal to :
Options :
2.3

86435118279, O

86435118280.

86435118281.

86435118282.
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Question Number : 63 Question Id : 8643516093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ABC 8502505000 Q0T STRYN 2000 :u;oz;mm% ©owzaN AT, B3 MOPT eeRDUNOT

i - . y - e . - = g am " . o -
TS0IR0WD RSNTT YL, oD (OFhem/T) BT e RS, Tomnd AABC ob
m@mﬁd 3z 2 8wen an;z:j ,;agd@

Options :
86435118279, 3

86435118280.

86435118281.

86435118282. V3

Question Number : 64 Question Id : 8643516094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let in a series of 2n observations, half of them are equal to a and remaining half are equal to
—a. Also by adding a constant b in each of these observations, the mean and standard
deviation of new set become 5 and 20, respectively. Then the value of a®+b? is equal to :

Options :

86435118283, 022

86435118284, +2°

86435118285. e

86435118286. 250

Question Number : 64 Question Id : 8643516094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

66/91



3/18/2021
200 AOBoNYT 2n WTERGIICY, [RTCGFY a 11 XTI, WITGFRY —a N
AT, ©TT ToIeow wBARTIF 30008 b obI, AEOATN WNT BRI THOXE
XooRO ) [ HWoTcIL DTN 5 B, 20 SM3B. TewedT al+b? T O3S :
Options :

86435118283, 222

86435118284, +2°

86435118285. o

86435118286. 220

Question Number : 65 Question Id : 8643516095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let in a Binomial distribution, consisting of 5 independent trials, probabilities of exactly
1 and 2 successes be 0.4096 and 0.2048 respectively. Then the probability of getting exactly
3 successes is equal to :

Options :
40
86435118287, 243
80

86435118288, 243

128

86435118289. 2

i

86435118290. e

Question Number : 65 Question Id : 8643516095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
40
86435118287, 243
80

86435118288, 243

128

86435118289. o

i

86435118290. 6%

Question Number : 66 Question Id : 8643516096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— — -
AB| = 10, then the projection of the vector AB on

CA‘ =7

% g _
In a triangle ABC, Lf|B-C‘ =8,

_—
AC isequalto:

Options :
115
86435118291. 16
85

86435118292, 14

86435118293, 20
25
86435118294, 4

Question Number : 66 Question Id : 8643516096 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1= = |— L = L
BC‘ = 8, ‘{:;5‘ = ‘AE‘ =10 S0 BO3 AC oD Wed AB oD TFewT

3202 ABC o,

Options :
115
86435118291. 16
85

86435118292, 14
86435118293, 20

86435118294.

Question Number : 67 Question Id : 8643516097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the centroid of an equilateral triangle ABC be at the origin. Let one of the sides of the
equilateral triangle be along the straight line x + y=3. If R and r be the radius of circumcircle

and incircle respectively of AABC, then (R+r) is equal to :

Options :

25

86435118295.
9

V2
86435118296.

JZ

]

86435118297.

55

86435118298.

Question Number : 67 Question Id : 8643516097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ABCHRm® $5bad MmIFeods) sheoRoRamdd. & Tmhmd S5had 2.0 HEE
x+y=3 XIOY¥ Ceadi TpoddeoRdW. R DD r oWFTameN AABC ob O3 =)
woHBIIT SRNVTT, (R+1) T &3

G,

Options :

5

86435118295.

Sle

86435118296.

86435118297.

86435118298,

Question Number : 68 Question Id : 8643516098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
"1 : :
Let a tangent be drawn to the ellipse ;—H I yz = 1at (3ﬁcngﬂ,gﬁ~.ﬂ_] where Be{{], g]
i i, A

Then the value of 8 such that the sum of intercepts on axes made by this tangent is minimum

is equal to :

Options :

w4

86435118299.

o |

86435118300.

JER

86435118301.

W | =)

86435118302.
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Question Number : 68 Question Id : 8643516098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[t
[t

r b :
0¢0, §| AR (33 cosh,sinb) T
\, £

) | -

e

1]
£
)
e
g
a|
)
£l
(el
i
EG
[
g.
pi |
&
ol
£l
ya |
s
3]
3

—
S

85 DWFTRY YINY DLOOLIDRBT LI e (intercepts) NY JpIH TIFZTT 6 T

[N
AL I
Options :
L
3
86435118299.
il
b6
86435118300.
.'.r
8
86435118301.
ao
4
86435118302.

Question Number : 69 Question Id : 8643516099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d ' il o
Let y=y(x) be the solution of the differential equation Iy = (y + 1) [fy | 1_]E'x"‘ I],

di
0 <x <21, with y(2)=0. Then the value of aj at x=1 is equal to :

Options :

86435118303.

86435118304.
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86435118305,

T )
le“ + 1 )
86435118306.

Question Number : 69 Question Id : 8643516099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ & . " i E A dy * 3 ]
0<x <21 QURRt y=y(x) SO OTIOT IWedoee - = )il le
o . E _ : _ 'cly o fiie
T TOToT@ONT. y(2)=0 &men x=109 e DEEAL
Options :
e
2
[1 I 02}
86435118303.
2e?
2
(1+ e2)
86435118304,
50}’5
{02 =1
86435118305.
'l.;_:
=
{02 2
86435118306.

Question Number : 70 Question Id : 8643516100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area bounded by the curve 4> =x?(4 — x)(x—2) is equal to :

Options :
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86435118307.

.,
86435118308, 16

|3

86435118309.
B
i1

86435118310.

Question Number : 70 Question Id : 8643516100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4y =x%(4—x)(x - 2) SBeLoWOT STZTT FEITO)

Options :

86435118307.

=
86435118308, 16

|4

86435118309.
B
B3

86435118310.

Question Number : 71 Question Id : 8643516101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
Let g(x) = J‘{;{(t}dt, where [ is continuous function in [0, 3] such that 3 = fit) = 1 for all

te[0, 1]and 0 = f(t) = < for all t € (1, 3]. The largest possible interval in which g(3) lies is :

1
.
Options :
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1
37
3
86435118311.
1
L _}
2
86435118312.
[1, 3]
86435118313.
[-5-1
Rl |
2
86435118314

Question Number : 71 Question Id : 8643516101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' ; ; ] Yy e : e & - ] 2 d .
g(x) = _[}f(t)dt og, f «owm [0,3] 0Q woi¥E, wwIs@mend. ©Qd te (0, 1] oQmen
1 e - g ' D 1 - ! - el e,
3 =f) =13 te(1,3] oQmen 0=f() = 5 ©hd. ZmwTd g(3) & wIneoRmS

n’a% TOFWCOD ©oIToT) -

Options :
!
= 3
3
86435118311.
1
L3
2
86435118312.
[1, 3]
86435118313.
[2-1]
—, 1
2
86435118314.

Question Number : 72 Question Id : 8643516102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Let f: R — R be a function defined as

|sin(a+ 1) x + sin2x

,ifx=0
- 2x
f(x)=1b Lifx =0
| .{ 3
; = bxa.. Vx Lifx >0
| bx'

[f fis continuous at x =0, then the value of a +b is equal to :

Options :
5
86435118315, 2

86435118316, —

86435118317. 2

3
2
86435118318.

Question Number : 72 Question Id : 8643516102 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f:R—= Raow «w3gs :

i

|sin(a+ 1) x + sin2x

,ifx=0
f 2x
f(x)= b Jfx =10
| 3
Jx + bx ) .
-. il Jx Jif x >0 Q0T ToTAROLT.
| b x/2 i 5= S

x=0 Tg f Q0w BRWF, wwITWE0, at+b o WS :

Options :
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5
86435118315, 2

86435118316, —

86435118317. 2

3
2
86435118318.

Question Number : 73 Question Id : 8643516103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let S, be the sum of first 2n terms of an arithmetic progression. Let S, be the sum of first 4n
terms of the same arithmetic progression. If (S, —5,) is 1000, then the sum of the first

6bn terms of the arithmetic progression is equal to :
Options :

86435118319, /000

86435118320, 2000

86435118321, 3000

86435118322. 1000

Question Number : 73 Question Id : 8643516103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S) Q0T TIPOIT FePoD HRTO 2n ITNY HRTTNT. S, 0T e I[IOBT
TEROD JRTY 4n TWNY DRTTNT. (5,—5;) T LS 1000 SN & ABROST JeFOD
BRTO 6n ITNY BRI :

Options :

86435118319, /000

86435118320, 2000
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86435118321, 3000

86435118322. 1000

Question Number : 74 Question Id : 8643516104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LetS, : x2+y*=9 and S, : (x—2)2+y*=1. Then the locus of center of a variable circle S

which touches S 1 f_ntc-rnall}-' and 52 externall}-' alwa}-'s passes fhmugh the points :

Options :
86435118323.

86435118324

86435118325.

86435118326.

Question Number : 74 Question Id : 8643516104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2y =9 DD S (x-2%+yt=1. smen 5, W, 0303 DR 5, W, HBFN

=

RF AT WORZ S & F0TH WO TFPR) CIR[INOR TIDT[RIME WO

(U]

0

Options :
: 5
=
86435118323, ’
0, = V3)
86435118324
(1, +2)

86435118325.
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b

3" 3
86435118326, ’

Question Number : 75 Question Id : 8643516105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the system of linear equations

dx+ Ay +2z=0

2x—y+z=0

px+2y+3z=0, A, pek.

has a non-trivial solution. Then which of the following is true ?
Options :

86435118327, M= meR

86435118328, W= ~ O AeR

86435118329, M=2 peR

86435118330, H=06, AeR

Question Number : 75 Question Id : 8643516105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dx+ Ay +2z=0

px+ 2y +3z=0, A, peR
DO TeTodT ANETORD M) CTBRT, TOTWOBW, BRCDT. TmEs FFNT

P BBTNS 9

Options :
86435118327, M= MeR
86435118328, M= O AeR

86435118329, N=2 ek
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86435118330, W=0, AeR

Question Number : 76 Question Id : 8643516106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i ' x—2
Let f: R—{3} — R— {1} be defined by f(x)= o

Let g : R — R be given as g(x)=2x—3. Then, the sum of all the values of x for which

' 13
f L) z 1(1'):3 is equal to.

Options :

2

86435118331.

86435118332.

86435118333.

=]

86435118334.

Question Number : 76 Question Id : 8643516106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ ; ; x—2 : &
f:R=3) > R=-{1} & f(x)= T3 Q00D TSBARG.

¢:R> R gx)=2r—3 200mehd. @omad f @)+ g 1(1’]=E SRR oy x Bdne

BR3H) :

Options :

2

86435118331.

86435118332.

86435118333.

=]

86435118334.
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Question Number : 77 Question Id : 8643516107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a complex number bc-.w = 1 — /3 i. Let another complex number z be such that |zw|=1

o
and arg(z)—arg(w)= PR Then the area of the triangle with vertices origin, z and w is equal
to :

Options :
1
86435118335. 2
p.
86435118336.
i
86435118337, *
4
86435118338.

Question Number : 77 Question Id : 8643516107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w=1—.3i D020T 2.0T) Todewds =oL oITAT. z H0WTY |zw|=1 =3

o ==

arg(z) —arg(w) = - . LODITTOL VRLOT Foderar HoBooRNE. Tomdd eoRomd,

MEN

z R, w W, JOMNTTYN TRODWLT SPPRT FESPO)
Options :

|
86435118335.

2
86435118336.
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1
86435118337, *

86435118338. ’

Question Number : 78 Question Id : 8643516108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Defline a relation R over a class of n xn real matrices A and B as
“ ARB iff there exists a non-singular matrix P such that PAP~1=B".

Then which of the following is true ?
Options :

86435118339 R is reflexive, symmetric but not transitive

86435118340, R is reflexive, transitive but not symmetric

6435118341 R is symmetric, transitive but not reflexive,

86435118342, R is an equivalence relation

Question Number : 78 Question Id : 8643516108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

nxn JPAD 3RET (INF SRIE) A DI B oY Mowog R 3, FPgoE0Z o SR AACINT.
“ARB &T0 3 enuednd ©2 3T wFdeas dwoe3 P aid PAP 1=B ende”
Tormetd IWNTNYY ooy =0 ?

Options :
R 2000 T8, InRoN SG0 @o®ms F0WOFTL.
86435118339. = i
R 200 T2TodE, Doxd sTUd I=non Jowogme.
86435118340. = e
R Q0200 AHEJoN, =odd ST0 J3TOT ToWoTH).
86435118341. == ™

R 00T A0S, Mo oPwmns.
86435118342. =
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Question Number : 79 Question Id : 8643516109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a hyperbola H : x2— 2y2= 4. Let the tangent at a point P {4, J6 ) meet the x-axis at

Q and latus rectum at R (x;, y4), xr; > 0. If F is a focus of H which is nearer to the point P, then
the area of AQFR is equal to .
Options :

6

86435118343.

Sl

86435118344.

86435118345.

46

86435118346.

Question Number : 79 Question Id : 8643516109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H:x2-2y2=4 20w THTBRRTY p (4, JV6) RoDOTIT FTFTP) r-LITIW, QI

ae (%)

D, LT TTE, R(xy, 1) x>0 I RopAIL. ZITWRe® H 3 Y F 2020w

P 2omhas ®30HYTO, AQFR 3 gfsg:bq :
Options :

V6
86435118343.

7

o L
86435118344. V6

46 — 1
86435118345.
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86435118346.

46

Question Number : 80 Question Id : 8643516110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e e
Let a and b be two non-zero vectors perpendicular to each other and

—

bl
a X bl|=

Options :

86435118347.
86435118348.

86435118349.

86435118350.

‘—;
d

cos 1 [
LY
cos ! {
LY
sin~ 1 [

sf_n_l(
LY

A/

&

e
N

2
M"|| =

-

e, —

&1

o -

p -

, then the angle between the vectors | 5

-

N
a —

Question Number : 80 Question Id : 8643516110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e

a x

Options :

86435118347.

cos ! [
kY

1
—=
s

-~

i

=N

Ao 3]

o

T Q0B ARINW WD ‘

S

a

| ; | {; X E]:’ and; is equal to :

|~ 5] onz

ol = [l e=nt 203 (3 + b + (3 x b)) BB a 19 DT deeIY -
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cos ™! KL]
2 )

86435118348.

sin ! [i
86435118349. \V3)

sin ! fi},__ |
86435118350. L
Mathematics Section B

Section Id : 864351408
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351408
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643516111 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If fix) and g(x) are two polynomials such that the polynomial P(x) = flx’)+x g{ﬂ] is divisible

h}" 241+ 1, then P{]_'J 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643516111 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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flx) B g(x) 202N QTR WITTNTONTR, WEITE P(x)=f(x%) +xg(x%) 02wt 22 +x+1

1) B BeSod

ocd FoTpeaF@RN PNILT P(1]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516112 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1
Let I be an identit}-' matrix of order 2x2and P = [ ,5]. Then the value of neN for which

5
P"=5I—8P is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516112 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

] B . i > B L2 2 =1 5 .
I 2020%h 2% 2 eedodh ©IZT> [HIFoIRNE DB, P= [ } LT neN [N

P"=5I-8P 09 na Sodw
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643516113 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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10
x+ 1 - el
The term independent of x in the expansion of [ 5 i 17 , X £1, is equal
xP3 — x5+ 1 x— x2

to ___
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
Question Number : 83 Question Id : 8643516113 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

' 10
: x4+ 1 X=1
x #1, aten 5 1 17 AXORONOT x =TNTF ITT AITMNID LSl
2 x3=-x3+1 x- x7 = " =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516114 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10

if 3 rt (e + 6r% + 2r + 5) = o (111),
r=1

then the value of «a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 84 Question Id : 8643516114 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1{} 7 . = - -
St (e® + 612 + 2r + 5)=a(11) &80 o T HSodd

r=1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516115 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P(x) be a real polynomial of degree 3 which vanishes at x= —3. Let P(x) have local
i

minima at x=1, local maximaatx= —1and I P(x)dx=18, then the sum of all the coefficients
-1

of the polynomial P(x) is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516115 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GeEF 3 O oA WRTE P(x)R x= -3 0 SOIFS (3R3) T3, P(x) B x=1 B¢

1
%’ECCL" B RO, Tne x=-109 %’fﬁ nosy Ao oRMW, BROOT IP{xjdx= 18

. -
[ =%

SN, THMET WBTW P(r) 8 20p ITMERINTG DRSY
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 86 Question Id : 8643516116 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let y=y(x) be the solution of the differential equation xdy— ydx= ul{xz yz}l dx, x=1, with
y(1)=0. If the area bounded by the line x=1, x=¢7, y=0 and y=y(x) is ae®™ + B, then the
value of 10(a+ ) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516116 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

r=1 i, y(1)=0 Shhs oBdos FWesde xdy—ydr=(x? —y?) dxr BY y=y()

QO TJOTTWOND.  Tedd x=1, x=e, y=0 PR, y=y(x) 008 <R[ITT FeITOP

ac’™+ B &ST8 10(a+p) T IS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643516117 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x 1_y|6_z|5
3 4 2

Let P be a plane containing the line and parallr:-l to the line

-
8]
I
=
(]
1

z+5
= = — If the point (1, —1, «) lies on the plane P, then the value of 5qf is

equal to

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643516117 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
¥—1 w6 z+5 s

=, 3 el oy gl oy — — = 5 - o ow o Fallr & iy gl
w02 AWDIT D) 3 1 > w0 UEJCQHFSH h%’ﬂﬂﬁ‘f@iﬁb, :LE::

= Q0L TeLUN Ao30=NR. (1, —1,a) How RVotdy) P Aen3d3ons

~
oy
]

S5cf T 23

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643516118 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M

Let the mirror image of the point (1, 3, a) with respect to the plane ?( 2? i ;;:' b=0

be (-3, 5, 2). Then, the value of |a+b] is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643516118 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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r-2i - j+ k| -b=0 FPIOY, FowoRAT (1,3, a) VOPIT TTFEe OO

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643516119 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let "C_. denote the binomial coefficient of x' in the expansion of (1+x)™

10
I ) {22 b 3k) nC, =a.30+p.210, , BeR, then a+p is equal to
(=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643516119 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10
NC, 2020 (1+2)" QFTT 1 I ORT FXMBOTRND. ), (2% + 3k) nCy =310+ .21,
& k=i

a, PeR =00 a+p © 3¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643516120 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0
Let f: R — R satisfy the equation flx+y)=f(x). fly) for all x, y € R and f(x) = 0 for any x € R.

it Ll . :
If the function fis differentiable at x=0 and f'(0) =3, then }Eﬂ 5 \f) — 1) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643516120 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fiR—R 200 a3 v yeR 1A f(x +y)=f(x). f(y) BRTTRIR, SATBWIT DI
3pRTe xeR T f(x)#0 8hd. x=0 8Y 3, & ITWIZcIWNT DJ) f(0)=3 s

' I .

fm 5 (09~
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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